cafe.naver.com/realcom?7 7214 XA _I 2|2 02-3424-7811
— B3 O0LE 75 A-034

S Rec] -
= 487 2 W REY ERE (FY6T % Sl 672—10—-00779
° (dlelw 7t 7FIAl FFF10azt . £1x
AsH s EEEERES 2 aze (25
_ NEAl 287 U562
LSET S o
ARAA: 20239 48 129 FRY [GEAR: oy B
AY AZES
Shbs
ZARE 7o 4 E g FE b |5 g7
QIEl A Ofi7-12MICH 12700K (R E0|Z) (B3) CPU 470,000 1 #470,000
1. 2PC 78 = 14 Olsts RHO 2 A/SE AlHst
0 11 0|S0f RHMBHE £2|H= BHEH O DA K DEEPCOOL AGG20(A| It 22 A E) CPUEY #49,000 1 #49,000
2 f=ede YLt
GIGABYTE B760M DS3H DDR5MEECE M/B ¥189,000 1 #189,000
2.A/SE DM OfEHUES JEC2 LTt
o S Xt DDR5-4800 (32GB) RAM 120,000 4 480,000
3. 179 ArgO|SoR QI3t HolajA 2Y U s/w
SHL MK, S 2| H &40l 2|2 A/SE AL
THS A/S 7|20 2| HEI RAES 7|70 E SA 7|Z= 0| &l RX5500XT 8GB ALZ VGA #0 #0
HoEuch
/ 0]
4. HDDO|| {Z &l DATAE 23 &|X| Y&LICH St
DATAL 3HAF BACKUPS =2 A|7| HFZFLIC} PM9A1 M.2 NVMe 49 (500GB)AS24 SSD 60,000 1 #60,000
5 DZHA B S/W EHZ QT SHA|= ZHe KE OrO|32 250GB 7| & SSD w0 1 w0
H 20| MFELCHL
7| G50 SE 2IO|EAHO|A ALE CASE #0 #0
6. TURHE HE S/WE ALE & Zo|H, 28 o=
EHXE s/w 7t ZHE| x| 8 %% é“ﬂéri, o|=of 2t 7|Ente] MEz2t0| Sei4! 750w AHE POWER #0 w0

of EH?J O-||I-|o|- 71c>o1|a}5 Bl Al 2xjo) ey | T7T00XXM L[ F8E Bzl (ZE10=0[S HsE

L HO|AZ8 | 10,000 1 #10,000
Tolst 2olo|H YU2e solgt {Ch)
x2 9 M| 29H| #60,000 1 #60,000
=< MEorgt (0|8 X) 21=2(05) %0
ol g #0
#1,318,000 1
*EF Oj& =S4 7HE ME 22 UoE 714 =25 M ShA VATH =
2 BE3 A% LEH0| ofL|zt 20y AlKlof % e Al lann -
7L|| |zl 7kH0| n F07t ot HE JHAof 3 > ug [ C A2
S O3t HQL|CH MASH JbZ oz TojE|= Zo|L S T chot To
etdsta 70§ St FLICE 20| HI3600+ M Q1 H E (D4 Q) a1y w35000 | -1 (#35,000)
café.naver.com/realcom7 U0l E{ 7L A4IDDR4 16GX2 F11 ol w36000 | -1 (#36,000)
1. 7t 7t 2 sH=A{OF R AX|RO|
JpssiL|Ch 44 DDR4 32Gx2 &1 o #50,000 -1 (#50,000)
2. JoS7 |2 YAZM Q. w0
o) w9 A ASEE KW w0
Eole OHIEE ZIlztL|C} )
X IR Mo HEElM 2HE0| oL WO
CHRSIE MR "o
HIIIE AH| MEf AL (#121,000) VATE E
SN S 2N FALSE SHA| ¥1,197,000 VATE T
FIEEHE S FALSE HILN| ¥119,700
7HA =%¥3 AN |o/H A HIAES vatze
HEEX T 9,800
5 28 oM 2 w0
"Mool #1,306900  |vATm=%

X MaA M HEA =
Mer2d (ol2F: =TT
110-482-539938

3gE, DUE FeYN, HOEET pcAd . NAVER |2/ ‘B




